

The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FVI Road Conditions www.illinoistollway.com

#### Proposal Results RFP

13-0202 Fiber Optic Maintenance Management Friday, February 14, 2014 Room 225 Time: 10:30 a.m.

	VENDOR NAME	
1. G4S Technology		
2. Ledcor Group		



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions www.illinoistollway.com

# Bid Proposals Request for Proposal (RFP)

13-0203 ERP Independent Verification and Validation Services Friday, February 14, 2014 Time: 10:30 0 AM Room 225

Vendor Name
Peritius Consulting Inc
CSG Government Solutions
Sunera LLC
Grant Thornton LLP
V3iT Consulting Inc.
Alert IT Solutions, Inc.
Plante and Moran PLLC
Moran Technology Consulting



The Illinois State Toll Highway Authority 2700 Ogden Avenue Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FVI Road Conditions www.illinoistollway.com

#### Proposal Results RFP

13-0092 Collection and Collection Litigation Services Friday, February 14, 2014 Room 225 Time: 10:30 a.m.

Vendor Name				
1. Account Control Technology				
2. Alliance One Inc.				
3. Allied Interstate LLC				
4. CCB Credit Services Inc.				
5. Collecto, Inc. d/b/a EOS CCA				
6. Enterprise Recovery Systems Inc.				
7. GC Services Limited Partnership				
8. Harris & Harris LTD.				
9. Harvard Collection Services				
10. Law Enforcement Systems LLC.				
11. Linebarger Goggan Blair and Sampson, LLP				
12. Municipal Services Bureau				
13. NCO Group Inc.				
14. Penn Credit Corp.				



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703
630/241-6800
630/241-6100 Fax
630/241-6898 TTY
1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

#### Proposal Results RFP

13~0107 Insurance Employee Benefits Wednesday, February 19, 2014 Room 219 Time: 10:30 a.m.

VENDOR NAME	
1. Dearborn National	
2. Minnesota Life Insurance Company	
3. Standard Insurance Company	
4. Lincoln National Life Insurance Company	



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

## BID Results IFB

#### 13-0130 Sand Stone Gravel Tuesday, February 25, 2014 Board Room, Time: 10:30 a.m.

1	1. Vendor Name: Macklin Incorporated							
Line No.	Description	Estimated Quantity	Unit Of Measure	Unit Price	Amount (Estimated Quantity X Unit Price)			
1	SAND, NATURAL, per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1003, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:	1275	TON					
2	ROAD GRAVEL, #9 (CA 10), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  Rochelle IL	3600	TON	\$5.40	\$19,440.00			
3	GRAVEL, 3/8" (CA 16), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Rochelle IL	600	TON	\$7.15	\$4,290.00			
4	STONE, <sup>3</sup> / <sub>4</sub> " (CA 7), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Rochelle IL	2700	TON	\$7.00	\$18,900.00			

5	STONE, CRUSHED (CA 5), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Rochelle IL	375	TON	\$7.00	\$2,625.00
6	STONE, 2" (CA 3), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Rochelle IL	4650	TON	\$5.85	\$27,202.50
7	STONE, 3" (CA 1), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Rochelle IL	4350	TON	\$5.85	\$25,447.50
8	STONE, 5", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Rochelle IL	3750	TON	\$5.80	\$21,750.00
9	STONE, 10", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Rochelle IL	4500	TON	\$7.00	\$31,500.00



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

## BID Results IFB

### 13-0130 Sand Stone Gravel Tuesday, February 25, 2014 Board Room, Time: 10:30 a.m.

Line No.	Description	Estimated Quantity	Unit Of Measure	Unit Price	Amount (Estimated Quantity X Unit Price)
1	SAND, NATURAL, per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1003, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: <u>Airport Pit</u> 6230 Beltline Road Rockford	1275	TON	\$4.50	\$5,737.50
2	ROAD GRAVEL, #9 (CA 10), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Irene Quarry 4525 Irene Road Belvidere	3600	TON	\$6.25	\$22,500.00
3	GRAVEL, 3/8" (CA 16), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Irene Quarry 4525 Irene Road Belvidere	600	TON	\$10.00	\$6,000.00
4	STONE, <sup>3</sup> / <sub>4</sub> " (CA 7), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Irene Quarry  4525 Irene Road Belvidere	2700	TON	\$10.00	\$27,000.00

5	STONE, CRUSHED (CA 5), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: Irene Quarry 4525 Irene Road Belvidere	375	TON	\$10.00	\$3,750.00
6	STONE, 2" (CA 3), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Irene Quarry 4525 Irene Road Belvidere	4650	TON	\$9.00	\$41,850.00
7	STONE, 3" (CA 1), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Irene Quarry  4525 Irene Road Belvidere	4350	TON	\$9.00	\$39,150.00
8	STONE, 5", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Irene Quarry  4525 Irene Road Belvidere	3750	TON	\$18.50	\$69,375.00
9	STONE, 10", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  Irene Quarry 4525 Irene Road Belvidere	4500	TON	\$18.50	\$83,250.00



The Illinois State Toll Highway Authority 2700 Ogden Avenue
Downers Grove, Illinois 60515-1703 630/241-6800 630/241-6100 Fax 630/241-6898 TTY 1-800-TOLL-FYI Road Conditions
www.illinoistollway.com

# BID Results IFB

### 13-0130 Sand Stone Gravel Tuesday, February 25, 2014 Board Room, Time: 10:30 a.m.

3	3. Vendor Name: Vulcan Materials Company						
Line No.	Description	Estimated Quantity	Unit Of Measure	Unit Price	Amount (Estimated Quantity X Unit Price)		
1	SAND, NATURAL, per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1003, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  DeKalb	1275	TON	\$9.50	\$12,112.50		
2	ROAD GRAVEL, #9 (CA 10), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: No Bid	3600	TON	No Bid	No Bid		
3	GRAVEL, 3/8" (CA 16), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up: McCook Bartlett Sycamore	600	TON	\$18.00 \$16.00 \$10.30	\$10,800.00 \$9,600.00 \$6,180.00		

			T	1	
4	STONE, <sup>3</sup> / <sub>4</sub> " (CA 7), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  Sycamore  DeKalb  Bartlett  McCook  Bolingbrook  Lemont  Laraway  Manteno	2700	TON	\$9.00 \$9.00 \$13.50 \$14.50 \$13.50 \$14.00 \$13.00 \$13.00	\$24,300.00 \$24,300.00 \$36,450.00 \$39,150.00 \$36,450.00 \$37,800.00 \$35,100.00
5	STONE, CRUSHED (CA 5), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  McCook Sycamore Bolingbrook	375	TON	\$13.50 \$9.00 \$13.00	\$5,062.50 \$3,375.00 \$4,875.00
6	STONE, 2" (CA 3), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012.  Location of pit(s) or quarry(ies) where material may be picked-up:  Bartlett Bolingbrook	4650	TON	\$13.50 \$13.50	\$62,775.00 \$62,775.00
7	STONE, 3" (CA 1), per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  McCook Bartlett Bolingbrook Lemont	4350	TON	\$14.50 \$13.00 \$13.00 \$13.50	\$63,075.00 \$56,550.00 \$56,550.00 \$58,725.00

8	STONE, 5", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  Sycamore  DeKalb  Bartlett  McCook  Bolingbrook  Lemont  Laraway  Manteno	3750	TON	\$18.00 \$26.00 \$30.00 \$26.00 \$26.00 \$26.00 \$26.00	\$67,500.00 \$97,500.00 \$112,500.00 \$97,500.00 \$97,500.00 \$97,500.00
9	STONE, 10", per Illinois Department of Transportation (IDOT) Standard Specifications for Road and Bridge Construction, Section 1004, adopted January 1, 2012. Location of pit(s) or quarry(ies) where material may be picked-up:  Sycamore  DeKalb  Bartlett  McCook  Bolingbrook  Lemont	4500	TON	\$20.00 \$30.00 \$32.00 \$30.00 \$30.00	\$90,000.00 \$135,000.00 \$144,000.00 \$135,000.00 \$135,000.00